23.78 23.1~78
+5 29 | 2d%x | *5 E RSB
50,348 48,695 357,479 382,317
+1,652 -24,838
(-16.4) (-25.4) (-13.0) (-104)
1,564 4 10,521
868 56 695 6,486 0,5 4,034
(-15.4) (-7.0) (-13.5) (-4.1)

T = > = = o > =B -+ ¢
MR 89 (-8.8) 19 (+12.6) 670 (-8.8) 114 (+7.0)
a4 5 A 101 (-15.1) 139 (-24.0) 742 (-18.2) 1,080 (-21.3)
dei= 398 (-22.8) 183 (-12.7) 3,079 (-17.9) 1,277 (-11.7)
MeX= 281 (-4.6) 1,223 (-3.9) 1,995 (-5.1) 8,049 (+0.1)
5 A 868 (-15.4) 1,564 (-7.0) 6,486 (-13.5) | 10,521 (-4.1)

O F8=3 d#F Td 44

T B T ¢
'23.78 23.1~74 '23.7¢8 23.1~78
868 (-154) | 6486 (-135) | & A | 1564 (-70) |10521 (-4.1)
159 (-249) | 1292 (-155) | & = 604 (-8.6) 4,081 (-3.2)
126 (-3.1) 836 (-5.2) Hj| £ 361 (-14.5) | 2,463 (-7.0)
118 (-14.3) 839 (-19.2) | O|E{Z| 119 (+6.9) 737 (+10.7)
47 (-8.1) 354 (-87) o L 60 (-10.4) 395 (-10.1)
45 (-35.6) 387 (-25.3) | 2zt 43 (+2.1) 327 (-1.9)
27 (-28.8) 235 (-18.0) | O[Ot 42 (+27.6) 224 (+2.6)




_2_

<Fa> dd 447 g9 43
| ok, HEy %)
o g
= e =2 12
20174 -0.5 15,175 4.7
20184 2.5 17,120 12.8
20194 -8.0 17,110 -0.1
20204 -13.3 16,203 -5.3
20214 14.0 18,299 12.9
18 -8.0 1,365 -4.1
23 -24.1 1,267 30.8
3 8.9 1,564 7.6
4 46.5 1,493 259
54 571 1,266 25.1
62 36.4 1,295 1.4
73 174 1,455 -1.0
8 19.0 1,654 6.6
9& -3.8 1,803 49
10 21.7 1,815 15.9
11 16.9 1,757 40.2
128 12.1 1,567 18.4
20224 -4.0 19,901 8.8
18 22.1 1,716 25.7
23 15.0 1,395 10.1
3 74 1,717 9.8
48 -0.1 1,529 24
53 4.1 1,505 18.9
62 -9.2 1,425 10.0
7 -9.9 1,681 15.5
8 -1.0 2,035 23.1
9 -5.6 2,032 12.7
10 -19.1 1,887 4.0
113 -20.2 1,463 -16.7
128 -17.0 1,516 -3.2
20234 -13.5 10,521 -4.1
18 -27.7 1,663 -3.1
23 -4.3 1,353 -3.0
38 -12.1 1,776 +34
4 -15.0 1,416 -7.4
52 -15.0 1,350 -10.3
62 -2.7 1,400 -1.8
78 -15.4 1,564 -7.0
2ol . 234 7 EAAR(ESY, F71E)




